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Bt
B2 [10mKE | 1048 201% 301t 401 501t 601t 70m Ll E
BORZLHE 123 0 1 14 29 38 26 12 3
BRENGH 98 1 0 13 17 23 20 20 4
EENBRALGH 9 0 0 5 1 1 2 0 0
FE 5 s AR S 1 5 16 0 0 5 1 3 2 3 2
KEYNE A 124 0 1 18 33 28 25 15 4
DR E T 27 1 0 5 5 3 7 6 0
ENEZSHHE 62 0 1 18 15 14 10 4 0
BOREALGH 43 0 0 10 9 6 10 7 1
ZDfth 17 0 0 1 4 7 3 2 0
A&t 322 2 2 43 80 92 64 32 7
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Bt
BHLE [10EKHE 10K 201t 301t 401 501t 601t 70U E
BE 110 0 1 15 28 30 18 16 2
RAHA 11 1 0 2 3 2 2 1 0
®EHA 9 0 0 0 3 4 2 0 0
fBiR 5 12 0 0 2 5 2 3 0 0
AEtths 10 0 0 0 6 4 0 0 0
a¥rihs 16 0 0 2 0 4 7 3 0
HEHA 32 0 0 3 13 7 7 2 0
BEHE 3 0 0 1 0 1 1 0 0
;i 125 a] 23 1 1 5 3 6 5 2 0
Enths 19 0 0 4 3 8 2 2 0
Bt 2 0 0 1 0 0 0 0 1
Bt 48 0 0 5 9 13 14 3 4
+ B tth 5 9 0 0 0 3 6 0 0 0
EJER 18 0 0 3 4 5 3 3 0
=) 322 2 2 43 80 92 64 32 7
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BORZLHE 173 0 1 30 49 46 21 19 7
BRENGH 132 0 0 26 29 34 18 17 8
EENBRALGH 9 0 0 3 3 0 0 2 1
FE 5 s AR S 1 5 12 0 0 2 5 1 2 2 0
KEYNE A 154 0 1 34 45 38 17 14 5
IO REE M 40 0 0 5 7 11 4 10 3
ENEASHHE 62 0 1 19 19 11 4 4 4
BOEALGH 58 0 1 14 17 5 6 13 2
ZDfth 15 0 0 3 2 6 3 1 0
A&t 374 0 4 73 103 89 57 32 16
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BE 102 0 0 21 24 29 10 13 5
ROt 24 0 0 8 5 8 1 2 0
BEHA 14 0 0 3 2 3 6 0 0
fBiRHh 5 15 0 0 2 3 2 5 1 2
AEihA 5 0 0 0 1 3 1 0 0
BFFihA 18 0 0 4 8 3 1 2 0
HBEHA 34 0 0 5 10 10 8 0 1
REHA 10 0 1 4 5 0 0 0 0
i 123 1p] 23 0 0 3 7 8 3 2 0
Eniswrs 17 0 1 4 4 5 2 1 0
ES-fgltA 1 0 0 1 0 0 0 0 0
BEgth s 66 0 1 9 23 11 12 6 4
+ it A 9 0 0 1 6 1 0 1 0
EOE 36 0 1 8 5 6 8 4 4
ast 374 0 4 73 103 89 57 32 16




